BN PRODUCTS-USA, LLC.

Quality Construction Tools

3450 Sabin Brown Road * Wickenburg, Arizona 85390
(800) 992-3833 ¢ mail@bnproducts.com* www.bnproducts.com

Parts List for
The Aeropro Pneumatic
3 1/4” Heavy Duty
Coil Framing Nailer

CN83

ORDERING NOTES

The MSRP (suggested list) prices are a suggested retail value; the
actual purchase price that an end-user would pay can be lower.
Prices are subject to change without notice. All parts and acces-
sories are shipped FOB: Wickenburg, AZ. There is a standard 20%
restocking charge on returned merchandise. Warranty — One year
parts and labor (only through our authorized warranty repair
centers). Any questions please call BN Products-USA Customer
Service Toll Free Number (800) 992-3833 or (928) 684-2813.



(800) 992-3833

Wickenburg, AZ 85390
mail@bnproducts.com

BN Products-USA, LLC.
3450 Sabin Brown Road

CN83 Coil Nailer

Framing Gun

- N\,
- %M@WL




BN Products-USA, LLC.
3450 Sabin Brown Road
Wickenburg, AZ 85390

(800) 992-3833

mail@bnproducts.com

COIL FRAMING NAILER
No. | Item ID Description Qty No. | Item ID Description Qty
1 [ACN83P-01 [HexBolt M6*45 [ 3 33 | ACN83P-33 | O-Ring6.11.8 | 1
2 | ACN83P-02 Vibrate Washer | 7 34 [ ACN83P-34 Spring 1
6 35 | ACN83P-35 | Plain Washer5 | 1
3 | ACN83P-03 Exhaust 1 36 | ACN83P-36 Trigger Valve 1
Deflector Pin
4 [ACN83P-04 | Hex Bolt M6*25| 4 37 | ACN83P-37 | Feeder Shaft 3
ACN83P-05 Hex Bolt M5%5 Ring
6 | ACN83P-06 Cylinder Head 1 38 | ACN83P-38 Feeder Spring 1
Cap 39 | ACN83P-39 | Feeder 1
7 | ACN83P-07 Hd. piston Vlv. 1 40 | ACN83P-40 Feeder Shaft 1
gasket 41 [ ACN83P-41 | Gasket 1
8 | ACN83P-08 | Seal ! 42 [ ACN83P-42 | Nose 1
ACN83P-09 Esznvalve ! 43 | ACN83P-43 | Hex Bolt M8*25 | 4
10 [ ACN83P-10 | O-Ring50*3.55 | 1 44 | ACN83P-44 | Spring Pin 2
11 | ACNS3P-11 Piston-Drive ] 45 | ACN83P-45 Nail guide shaft | 1
12 [ACNS3P-12 | O-Ring79.3°2.5 | 1 46 | ACNB3P-46 g;?:l;;ressmn !
13 [ ACN83P-13 [ O-Ring69.32.5 | 2 o | ACNSIPr | Safery
14 | ACN83P14 | Cylinder ! 48 | ACN83P-48 | Depth Control | 1
15 | ACN83P-135 ggfz‘i 5 ! 49 [ ACN83P-49 gorrillllpression 3
16 | ACN83P-16 | O-Ring 9172 > 50 | ACN83P-50 Sfeel iall 1
17 | ACN83P-17 f}lpport Collar | 1 51 | ACN83P-51 | Plain Washer6 | 1
pper
18 [ACN83P18 | Support Collar | 1 52 | ACN83P-52 | Hex Bolt M6*10 | 1
Lower 53 | ACN83P-53 Safety Pushing 1
19 | ACN83P-19 | Sealing Ring 1 Lever
20 | ACN83P-20 Compressing 1 >4 | ACN83P-54 Handle Grip
Spring 55 | ACN83P-55 End Cover 1
21 [ACN83P-21 | Lining Ring 1 Gasket
22 | ACN83P-22 Head Cap 1 56 | ACN83P-56 End Cover 1
Gasket 57 | ACN83P-57 Vibrate Washer | 3
23 | ACN83P-23 | Tool Body 1 >
24 | ACN83P-24 | O-Ring63.6x2.5| 1 >8 | ACN83P-58 | Hex Bolt M520 ] 4
25 | ACN83P-25 | Bumper II 1 59 | ACN83P-59 ;*/ig,,lnlet Plug | 1
26 | ACN83P-26 Scsr?gessed ! 60 | ACN83P-60 | Plainwasher5 | 1
27 [ACN83P-27  [O-Ring4.5418 | 1 61 | ACN83P-61 zﬁ’;gg)
28 | ACN83P-28 Trigger Plunger 1 o2 | ACNS3P-62 Trigger Body ]
29 [ ACN83P-29 [O-Ring11.2%1.5| 2 65 | ACNB3.63 | Spring Pin 3730 | 2
30 | ACN83P-30 ggilger Valve 1 64 | ACN83P-64 Valve guard 1
31 | ACN83P-31 O-Ring 91.8 3 65 | ACN83P-65 Spring Pin3*45 1
32 | ACN83P-32 Trigger Valve 1 66 | ACN83P-66 ézcs'{j:igular !
Cage




AEROPRO BN Products-USA, LLC.

3450 Sabin Brown Road

0“83 Wickenburg, AZ 85390

COIL FRAMING NAILER (800) 992-3833

mail@bnproducts.com

No. [ Item ID Description Qty 88 | ACN83P-88 Plate 1
67 | ACN83P-67 Globe 1 89 [ ACN83P-89 Hex Bolt M4*8 1
68 | ACN83P-68 O-Ring 1 90 | ACN83P-90 Lock shaft 1

11.2x1.85 91 | ACN83P-90 | Spring Pin 3*10 | 1
69 | ACN83P-69 Trigger Valve 1 No. | Item ID Description Qty
Plat
— - = 1 92 [ ACN83P-92 | Guide Lock 1
70 N83P-70 i V. 1
TiBgeT YAve 93 [ ACN83P-93 | Guide Lock 1
Bushing .
Spring
71 | ACN83P-71 O-Ri 1
o 8:?%) 94 | ACN83P-94 | Spring 1
72 | ACN83P-72 | Trigger Valve | 2 95 | ACN83P95 | Screw NutM> ] 2
Plunger 96 | ACN83P-96 Sleeve 1
73 | ACN83P-73 | Feed Piston 1 97 | ACN83P-97 | Guard 1
74 | ACN83P-74 | O-Ring (22*2.4) | 1 ACNB83P- Nail Mag Assy [ 1
75 | ACN83P-75 | Feed Spring 1 NAIL-MAG
76 | ACN83P-76 | Valve Packing | 1 %8 | ACN83P-98 | Magazine !
27%19%2.5 99 | ACN83P-99 Holder Cap 1
77 | ACN83P-77 Feed Piston 1 100 | ACN83P-100 | Nail Holder 1
cover (A) 101 [ ACN83P-101 [ Ratchet Spring 1
78 [ ACN83P-78 Feed piston 1 102 [ ACN83P-102 [ Spring Pin 1
cover 2.5%16
79 | ACN83P-79 Hex Bolt M5*10 | 2 103 [ ACN83P-103 | Adjust Seat 1
80 | ACN83P-80 Feed piston 1 104 | ACN83P-103 | Pin 1
cover rubber 105 | ACN83P-104 | Nail Guide 1
81 | ACNS3P-81 | Nail Stopper ! 106 | ACN83P-105 | Hex Bolt M5*14 | 1
82 | ACN83P-82 gup. Stopper- 1 107 | ACN83P-106 | Magazine Cover | 1
rin
p' g - 108 [ ACN83P-107 | Goggles 1
83 | ACN83P-83 Nail guide 1
- - 109 [ ACN83P-108 | Allen Wrench 1
84 | ACN83P-84 Main Nail Stop- | 1 M4
er
P - 110 | ACN83P-109 | Allen Wrench 1
85 | ACN83P-85 Main Stopper 1 M5
Spring
— 111 | ACN83P-110 | Allen Wrench 1
86 | ACN83P-86 Nail Guide 1 M6
Cover -
112 | ACN83P-111 | Oil Can 1
87 | ACN83P-87 Cover 1

CN83-Parts-6-18.indd



